CROSSOVER PLATE

ANTENNA MOUNT PIPE
(NOT INCLUDED IN THIS KIT)

SUPPORT RAIL PIPE

FIELD CUT TO FIT

L 2N . .
.- A~ \v s

TO BE FIELD CUT/ TRIMMED TO MATCH EXISTING FACE HORIZONTAL

PLAN VIEW

@@9@ FITS ¢2.375" 0.D. AND 92.875"

0.D. ANTENNA MOUNT PIPE
@OR (NOT INCLUDED IN THIS KIT)

1 /FIELD CUT TO FIT.
b
@G0 o o

SECTION "A-A"

DETAIL "A"

1. HOT-DIPPED GALVANIZED PER ASTM A123.

TES-SS—PLK1Q (QUAD SUPPORT RAIL KIT)

DRAWN BY:PF CHECKED BY: KW/SK

REV. DESCRIPTION BY DATE
/O\FIRST ISSUE PF_07/18/23

AN -
AN -
AN -
AN -

SHEET TITLE:

TES-SS-PLK1Q
4-SIDED SUPPORT RAIL
KIT

PART NO. DESCRIPTION SHEET #
A éRlsz) PST PIPE (2.875” 0.0. X 0.203" THICKNESS, AG3 LK1
2 L33375-3 L 3" X 3" X 3/8” A3 PLK1Q—F1
3 CBP4-L CORNER BENT PLATE BRACKET PLK4—F1
4 CBP4-R CORNER BENT PLATE BRACKET PLK4—F2
5 MS02-625-300-500 | RU-BOLT 5/8” X 3" IW. X 5" I.L. A36 (OR EQUIV.) RBC—1
6 — BOLT 5/8” X 2" A325 —
7 PL375-857 PL 3/8" X 8 1/2" X 7" A36 MSK1—F1
8 FW—625 5/8” HDG USS FLAT WASHER __
9 LW—625 5/8” HDG LOCK WASHER 7”
10 NUT—625 5/8” HDG HEX NUT -

GALVANIZED WT

SHEET NUMBER: REV #:

TES-SS-PLK1Q | ()




12’—6"
s 0 ()
~E
o~
PST2875-12.5
2 1/2” PST PIPE (2.875” 0.D X 0.203” THICKNESS A53 GR—B)
(97.04 LBS)
3-0"
11/8
: (18) X 1 7/8" SPACING = 2'-9 3/4”
"
- 1.7/8" (TYP)
o mmmmmmmmmmmmmmmmmm@
NS N N N N N N N S B N S A A S A A N AN
TOP VIEW
3-0"
11/8
: (18) X 1 7/8" SPACING = 2'-9 3/4” 3
'y
- 1.7/8" (TYP)
-
% P N N N N N N N N N N N N N N N NN j. % RN CHECKED 57 Kw/sK
W W W W W w W w W w W w W w W w W W $ [ REV. DESCRIPTION BY DATE
L _ @HRST ISSUE _PF_07/18/23
FRONT VIEW SIDE VIEW ﬁ
L33375-3 AN
L 3" X 3" X 3/8" A36 AN
(21.09 LBS) SHEET TITLE:
FABRICATION DETAILS
NOTES SHEET NUMBER: REV #;
1. ALL HOLES ARE 11/16” DIA. UN.O
2. HOT-DIPPED GALVANIZED PER ASTM A123. PLK1 Q_ H O




-0 1/8"

6 3/8" 11/16° 9 13/16"
| .
A AN
— 2/
[ 1T 1T &
< %
M
w
Ay
AN
v B ’, 14 17/8" 11/8" e AFT%M
? ‘ -
~ | ®
} —
() § | - ML
U < ; NN, 3
NVR L «
RN 2
la
: 2 *
S 2 -
= s
e |
|
|
M
) i ® OO .
(1 (e | " Sl
. U NV -l E
> 37
- 1
3/8” L
L | DRAWN BY:PF CHECKED BY: KW/SK
6 5/8” 4.3/8" REV. DESCRIPTION BY DA
. SECTION "A-A" @HRST ISSUE _PF 07/18/23
11 /\ o
ﬁ -
BEFORE BENDING —
R AN -
CBP4—L SHEET TITLE:
PL 3/8” X 1'=0 1/8” X 11" A36
il RU-BOLT CHART
SHEET NUMBER: REV #Z




11/16

2 3/4”

31/8"

11/16” 6 3/8"
‘ 9 13/16”
2
— B
. fe T
S = [ 1 [ 1 b
S .
<
<
e 178 due L oW % | | ] _ TOP VIEW
bl 2 AFTER BENDING
‘ S
2 * N
> \
_ |
L/ | e,
| ‘<
| oSG
lo
I < R
E e
15 >~ T
= -
- )
| N
i 7 . Y @
| et (1 ah vl
M ™~ -
- a Y NP - :
| - -
| -
J 3/8" %
| | DRAWN BY: PF CHECKED BY: KW/SK
4 3/8" 6 5/8" REV. DESCRIPTION BY  DATE
SECTION "B—B" /O\FIRST ISSUE _PF_07/18/23
11 ﬁ *
A .
BEFORE BENDING A 7
CBP4-R SHEET TITLE:
PL 3/8" X 1'=0 1/8" X 11" A36
(8.93 LBS) RU-BOLT CHART
SHEET NUMBER: REV #:




8 1/2"

PL 3/8" X 8 1/2" X 0'-7" A36

(6.42 LBS)

35/8
1 11/16" 31/8" 111/16”
© C_\ (11D -
S i N, -
o~ >
0 01 -
/ \
| B
[’9) —
M N
O Ot
©
% >
< :—: il
: 13
15/16" < "
- (TYP)
PL375-857

DRAWN BY:PF CHECKED BY: KW/SK

REV. DESCRIPTION BY DATE

@ FIRST ISSUE _PF_07/18/23
JAN
JAN
JAN
A

SHEET TITLE:

RU-BOLT CHART

SHEET NUMBER: REV #:

MSK1=F11 0




STANDARD RU-BOLT CHART

DESCRIPTION (EQUIVALENT PART NO.) "A" "B" "c" "D" "E" "WGT"
3/8" RU-BOLT MS02-375-8125-1625 3/8" 13/16" 15/8" 7/8" 13/16" 0.26
3/8" RU-BOLT MS02-375-100-225 3/8" 1" 21/4" 11/4" 13/8" 0.30
3/8" RU-BOLT MS02-375-125-225 3/8" 11/4" 21/4" 11/4" 15/8" 0.30
3/8" RU-BOLT MS02-375-1125-18125 3/8" 11/8" 113/16" 11/4" 11/2" 0.27
3/8" RU-BOLT MS02-375-150-250 3/8" 11/2" 21/2" 11/4" 17/8" 0.32
3/8" RU-BOLT MS02-375-150-275 3/8" 11/2" 23/4" 15/8" 17/8" 0.34
3/8" RU-BOLT MS02-375-150-300 3/8" 11/2" 3" 13/4" 17/8" 0.35
3/8" RU-BOLT MS02-375-175-275 3/8" 13/4" 23/4" 11/8" 21/8" 0.34
3/8" RU-BOLT MS02-375-200-2625 3/8" 2" 25/8" 11/4" 23/8" 0.34
3/8" RU-BOLT MS02-375-200-125 3/8" 2" 3" 1-1/4" 2-3/8" 0.40
3/8" RU-BOLT MS02-375-2125-300 3/8" 21/8" 3" 11/4" 21/2" 0.36
3/8" RU-BOLT MS02-375-250-30625 3/8" 21/2" 31/16" 11/4" 27/8" 0.38
3/8" RU-BOLT MS02-375-250-3125 3/8" 21/2" 318" 11/4" 27/8" 0.37
3/8" RU-BOLT MS02-375-250-3625 3/8" 21/2" 3-5/8" 13/4" 27/8" 0.45
3/8" RU-BOLT MS02-375-300-3625 3/8" 3" 35/8" 11/4" 33/8" 0.42
3/8" RU-BOLT MS02-375-300-425 3/8" 3" 41/4" 2" 33/8" 0.50
3/8" RU-BOLT MS02-375-300-6625 3/8" 3 65/8" 3 33/8" 0.53
3/8" RU-BOLT MS02-375-350-4125 3/8" 31/2" 41/8" 11/4" 37/8" 0.46
3/8" RU-BOLT MS02-375-350-475 3/8" 31/2" 43/4" 2" 37/8" 0.50
3/8" RU-BOLT MS02-375-400-575 3/8" 4" 53/4" 21/2" 43/8" 0.60
1/2" RU-BOLT MS02-500-75-350 1/2" 3/4" 31/2" 21/2" 11/4" 0.60
1/2" RU-BOLT MS02-500-1563-350 1/2" 19/16" 31/2" 2" 21/16" 0.62
1/2" RU-BOLT MS02-500-200-300 1/2" 2" 3" 11/4" 21/2" 0.55
1/2" RU-BOLT MS02-500-200-375 1/2" 2" 33/4" 13/4" 21/2" 0.67
1/2" RU-BOLT MS02-500-20625-500 1/2" 21/16" 5 3" 29/16" 0.80
1/2" RU-BOLT MS02-500-225-450 1/2" 21/4" 41/2" 21/2" 23/4" 0.76
1/2" RU-BOLT MS02-500-2438-3625 1/2" 27/16" 35/8" 13/4" 215/16" 0.67
1/2" RU-BOLT MS02-500-2438-5375 1/2" 27/16" 53/8" 3" 215/16" 0.86
1/2" RU-BOLT MS02-500-250-400 1/2" 21/2" 4" 21/2" 3" 0.70
1/2" RU-BOLT MS02-500-250-450 1/2" 21/2" 41/2" 21/2" 3" 0.76
1/2" RU-BOLT MS02-500-29375-575 1/2" 215/16" 53/4" 3" 37/16" 0.92
1/2" RU-BOLT MS02-500-300-4125 1/2" 3" 41/8" 2" 31/2" 0.74
1/2" RU-BOLT MS02-500-300-450 1/2" 3" 41/2" 15/8" 31/2" 0.73
1/2" RU-BOLT MS02-500-300-500 1/2" 3" 5" 21/2" 312" 0.84
1/2" RU-BOLT MS02-500-350-500 1/2" 31/2" 5" 11/2" 4" 0.78
1/2" RU-BOLT MS02-500-350-850 1/2" 31/2" 81/2" 3" 4" 1.09
1/2" RU-BOLT MS02-500-3625-550 1/2" 35/8" 51/2" 3" 41/8" 110
1/2" RU-BOLT MS02-500-3625-600 1/2" 35/8" 6" 21/2" 41/8" 0.97
1/2" RU-BOLT MS02-500-3563-450 1/2" 39/16" 41/2" 2" 41/16" 0.80
1/2" RU-BOLT MS02-500-3563-650 1/2" 39/16" 61/2" 3" 41/16" 1.02
1/2" RU-BOLT MS02-500-400-550-B 1/2" 4" 51/2" 11/2" 41/2" 0.84
1/2" RU-BOLT MS02-500-400-550 1/2" 4" 51/2" 2" 41/2" 0.92
1/2" RU-BOLT MS02-500-4063-700 1/2" 41/16" 7 3" 49/16" 1.09
1/2" RU-BOLT MS02-500-4125-600 1/2" 41/8" 6" 21/2" 45/8" 0.98
1/2" RU-BOLT MS02-500-450-600 1/2" 41/2" 6" 11/2" 5" 0.89
1/2" RU-BOLT MS02-500-4625-700 1/2" 45/8" 7" 21/2" 51/8" 111
1/2" RU-BOLT MS02-500-4563-750 1/2" 49/16" 71/2" 3" 51/16" 1.16
1/2" RU-BOLT MS02-500-5625-725 1/2" 55/8" 71/4" 2" 61/8" 1.04
1/2" RU-BOLT MS02-500-4563-575 1/2" 49/16" 53/4" 2" 51/16" 0.97
1/2" RU-BOLT MS02-500-5563-700 1/2" 59/16" 7" 2" 61/16" 114
1/2" RU-BOLT MS02-500-575-750 1/2" 53/4" 71/2" 21/2" 61/4" 1.22
1/2" RU-BOLT MS02-500-6625-800 1/2" 65/8" 8" 3" 71/8" 1.28
1/2" RU-BOLT MS02-500-675-850 1/2" 63/4" 81/2" 21/2" 71/4" 117
1/2" RU-BOLT MS02-500-675-8375 1/2" 63/4" 83/8" 2" 71/4" 1.24
1/2" RU-BOLT MS02-500-8750-1025 1/2" 83/4" 101/4" 3" 91/4" 1.60
1/2" RU-BOLT MS02-500-875-10375 1/2" 83/4" 103/8" 2" 91/4" 1.34
1/2" RU-BOLT MS02-500-10875-1300 1/2" 107/8" 1-1" 3" 113/8" 1.98

"or
D" 5
NOTES: [T
IF EQUIVALENT U-BOLTS ARE USED, THE FOLLOWING
SPECIFICATIONS ARE REQUIRED:
1. THE MATERIAL SHALL BE HOT ROLLED STEEL b I
WITH A MINIMUM YIELD STRENGTH OF 36 KSI.
2. ALL U-BOLTS SHALL BE HOT DIP GALVANIZED
PER ASTM A153—78. AT
3. TOLERANCE: FOR "C" AND D" +/- 1/16",
"B” AND "E” + 1/16", A" +/— 1/32”.
STANDARD RU-BOLT CHART
DESCRIPTION (EQUIVALENT PART NO.) "A" "p" e "p" " "WGT"
5/8" RU-BOLT MS02-625-200-375 5/8" 2 33/4" 2" 25/8" 115
5/8" RU-BOLT MS02-625-2063-500 5/8" 21/16" 5" 3" 211/16" | 132
5/8" RU-BOLT MS02-625-2438-5375 5/8" 27/16" | 53/8" 3" 31/16" 1.40
5/8" RU-BOLT MS02-625-250-400 5/8" 21/2" 4 212 | 318" 1.17
5/8" RU-BOLT MS02-625-2625-450 5/8" 25/8" | 412" 2" 31/4" 1.20
5/8" RU-BOLT MS02-625-2563-550 5/8" 29/16" | 51/2" 3" 33/16" 143
5/8" RU-BOLT MS02-625-2938-5875 5/8" | 215/16" | 57/8" 3" 39/16" 1.52
5/8" RU-BOLT MS02-625-300-400 5/8" 3" g 2" 35/8" 1.20
5/8" RU-BOLT MS02-625-300-500 5/8" 3 5 3" 35/8" 1.37
5/8" RU-BOLT MS02-625-3063-600 5/8" 31/16" 6" 3" 311/16" | 154
5/8" RU-BOLT MS02-625-3625-600 5/8" 35/8" 6" 3" 41/4" 145
5/8" RU-BOLT MS02-625-3563-650 5/8" 39/16" | 61/2" 3" 43/16" 1.65
5/8" RU-BOLT MS02-625-4063-700 5/8" 41/16" 7 3" 411/16" | 177
5/8" RU-BOLT MS02-625-4125-600 5/8" 41/8" 6" 3" 43/4" 1.60
5/8" RU-BOLT MS02-625-4625-700 5/8" 45/8" 7 3" 51/4" 1.60
5/8" RU-BOLT MS02-625-4563-750 5/8" 49/16" | 712" 3" 53/16" 1.87
5/8" RU-BOLT MS02-625-4813-775 5/8" | 413/16" | 73/2" 3" 57/16" 193
5/8" RU-BOLT MS02-625-500-700 5/8" 5 7 3" 55/8" 1.9
5/8" RU-BOLT MS02-625-5063-800 5/8" 51/16" 8" 3" 511/16" | 1.9
5/8" RU-BOLT MS02-625-5625-85625 5/8" 55/8" | 89/16" 3" 61/4" 211
5/8" RU-BOLT MS02-625-575-800 5/8" 53/4" 8" 3" 63/8" 2.02
5/8" RU-BOLT MS02-625-6688-9625 5/8' | 611/16" | 95/8" 3" 75/16" 2.35
5/8" RU-BOLT MS02-625-6750-900 5/8" 63/4" 9" 3" 73/8" 2.2
5/8" RU-BOLT MS02-625-8688-11625 5/8" | 811/16" | 115/8" 3" 93/16" 2.80
5/8" RU-BOLT MS02-625-875-1100 5/8" 83/4" 11" 3" 93/8" 2.70
5/8" RU-BOLT MS02-625-10688-1375 5/8" | 1013/16 | 133/4" 3" 117/16" | 327
5/8" RU-BOLT MS02-625-12875-1575 5/8" 127/8" | 153/4" 3" 131/2" 3N
5/8" RU-BOLT MS02-625-14125-1700 5/8" 141/8" 17" 3" 143/4" 4,01

DRAWN BY:PF

CHECKED BY: KW/SK

REV. DESCRIPTION

@ FIRST ISSUE

BY DATE
_PF_07/18/23

AN

AN

AN

AN

SHEET TITLE:

RU-BOLT CHART

SHEET NUMBER:

RBC—

REV #:

1 0




